Homework 9: March 2, 2017

Wave Equation

1. (Problem 4.2.1) (a) Using the wave equation

$$\rho_0(x)\frac{\partial^2 u}{\partial t^2} = T_0\frac{\partial^2 u}{\partial x^2} + \rho_0(x)Q(x,t)$$

calculate the sagged equilibrium position $u_E(x)$ if Q(x,t) = -g. The boundary conditions are u(0) = 0, u(L) = 0.

(b) Show that $v(x,t) = u(x,t) - u_E(x)$ satisfies the homogeneous wave equation:

$$\frac{\partial^2 u}{\partial t^2} = c^2 \frac{\partial^2 u}{\partial x^2}.$$

2. (Problem 4.4.1-will cover material in class on March 7). Consider vibrating strings of uniform density ρ_0 and tension T_0 .

(a) What are the natural frequencies of a vibrating string of length L fixed at both ends?

(b) What are the natural frequencies of a vibrating string of length H which is fixed at x = 0 and "free" at the other end? Sketch a few modes of vibration as in Fig. 4.4.1.

3. (Problem 4.4.2) Consider the vibrations of a uniform string that satisfies:

$$\frac{\partial^2 u}{\partial t^2} = c^2 \frac{\partial^2 u}{\partial x^2} + \alpha u.$$

(a) Show that if $\alpha < 0$ the body force αu is restoring (toward u = 0). Show that if $\alpha > 0$, the body force αu tends to push the string further away from its unperturbed position u = 0.

(b) Do the separation of variables when α and c^2 are constant. Analyze the resulting time-dependent ordinary differential equation.

(c) Solve the initial boundary value problem if $\alpha < 0$ with the following initial and boundary conditions:

$$u(0,t) = 0, \ u(L,t) = 0, \ u(x,0) = 0, \ \frac{\partial u}{\partial t}(x,0) = f(x).$$

What are the frequencies of vibration?

 $\phi(x) = A \cos \sqrt{x} + B \sin \sqrt{x}$ $\phi(x) = 0 \Rightarrow A = 0 \Rightarrow \phi(x) = B \sin \sqrt{x}$ $\phi(x) = b \sqrt{x} \cos \sqrt{x}$. $\phi'(\pi) = B \sqrt{x} \cos \sqrt{x} + 0 = 0$

K= 1,2,3

Thus:
$$\lambda_{n} = \left(\frac{2\kappa_{-1}\sqrt{1}}{2\mu}\right)^{2}, \quad k = 1, 2, 3, \dots$$
$$\phi_{n}(x) = \sin\left(\frac{2\kappa_{-1}}{2\mu}\right)^{2} = \frac{2\kappa_{-1}}{2\mu}$$

GENERAL SOLUTION: $u(x_{1}t) = \sum_{k=1}^{\infty} \sin\left(\frac{2k-1)\pi}{2H} \left(A_{n}\cos\left(\frac{2k-1}{2H}\right)\pi ct\right) + k = 1$ $B_{n}\sin\left(\frac{2k-1}{2H}\right)\pi ct$

$$u(x,t) = \sum_{k=1}^{N} \sin \left(k - \frac{1}{2} \right) \prod_{H} \left(A_{H} \cos \left(\frac{(k - \frac{1}{2})\pi c}{H} + B_{H} \sin \left(\frac{(k - \frac{1}{2})\pi c}{H} \right) + \frac{(k - \frac{1}{2})\pi c}{H} + \frac{(k - \frac{1}{2})\pi c}$$

$$u_{t} = c^2 u_{xx} + du$$





When UTO (displ. above equilibrium position), the sign of the body force du is <u>negative</u>, byging to <u>restore</u> the equilibrium position. When UKO (displacement is below equilibrium) the sign of the body force du is <u>positive</u>, trying again to <u>restore</u> the equilibrium position. RESTORING FORCE

(3) For dro: When uso, the sign of du is positive, for pushing the string away from equilibrium when uso, the sign of du is negative, when use, the sign of duis negative, again peshing the string away from equilibrium and a $u(x_t) = \phi(x)h(t) \Rightarrow h'\phi = c^2\phi'h + d\phi h / \div c^2\phi h$ (6) $\Rightarrow \frac{h}{c^2 h} = \frac{\phi}{\phi} + \frac{\phi}{c^2}$ $\frac{h}{c^2h} - \frac{d}{c^2} = \frac{\phi}{\phi} = -\lambda$ $\frac{\lambda^{"}(t)}{c^{2}h(t)} - \frac{d}{c^{2}} = -\lambda \implies \frac{\lambda^{"}(t)}{\lambda(t)} - d + \lambda c^{2} = 0$ rt , h(t) = e => $\Rightarrow h'(t) + (\lambda c^2 - \alpha)h(t) = 0$ $r^2 + (\lambda c^2 - d) = 0$ $Jf - \lambda c^{2} + d < 0 \Rightarrow h(t) = A \cos \sqrt{\lambda c^{2}} + t + B \sin \sqrt{\lambda c^{2}} + t$ $l^2 = d - \lambda c^2$ r = ± 2-2c2 $T_{f} - \lambda c^{2} + d > 0 \Rightarrow h(t) = A e^{\sqrt{d} - \lambda c^{2} t} + B e^{\sqrt{d} - \lambda c^{2} t}$ $(c)[d<0] = -\lambda c^{2} + d <0 = h(t) = A \cos \lambda c^{2} - a t + B \sin \sqrt{\lambda c^{2} - a} t$ $\phi_n(x) = \sin \frac{n\pi x}{L}$, $\lambda_n = \left(\frac{n\pi}{L}\right)^2$, n = 1, 2, 3, ...,lin(x) = An cos VITTE 2 x t + Bn sin VITTE 2 x t $u(x_{i}t) = \sum_{n=1}^{\infty} \sin \frac{n\pi x}{L} \left(A_{n} \cos \sqrt{\frac{n\pi c}{L}}\right)^{2} + B_{n} \sin \sqrt{\left(\frac{n\pi c}{L}\right)^{2}} + t \right)$

$$\frac{M(x,0)=0 \Rightarrow}{W(x,t)=\sum_{n=1}^{\infty} B_{n} \frac{\sin n\pi x}{L} \sin \sqrt{\left[\frac{n\pi c}{L}\right]^{2} - \alpha} t}$$

$$\frac{W(x,t)=\sum_{n=1}^{\infty} B_{n} \frac{\sin n\pi x}{L} \sin \sqrt{\left[\frac{n\pi c}{L}\right]^{2} - \alpha} t}$$

$$\frac{W_{L}(x,t)=\sum_{n=1}^{\infty} B_{n} \sqrt{\left[\frac{n\pi c}{L}\right]^{2} - \alpha} \cos \left(\sqrt{\left[\frac{n\pi c}{L}\right]^{2} - \alpha} t\right) \cdot \sin \left(\frac{n\pi x}{L}\right)$$

$$\frac{W_{L}(x,0)=\sum_{n=1}^{\infty} B_{n} \sqrt{\left[\frac{n\pi c}{L}\right]^{2} - \alpha} \sin \frac{\pi x}{L} = f(x)$$

$$\frac{W_{L}(x,0)=\sum_{n=1}^{\infty} B_{n} \sqrt{\left[\frac{n\pi c}{L}\right]^{2} - \alpha} = \frac{2}{L} \int f(x) \sin \frac{n\pi x}{L} dx$$

$$\frac{W_{L}(x,0)=\sum_{n=1}^{\infty} B_{n} \sqrt{\left[\frac{n\pi c}{L}\right]^{2} - \alpha} \int f(x) \sin \frac{n\pi x}{L} dx$$

$$\frac{W_{L}(x,0)=\sum_{n=1}^{\infty} B_{n} \sqrt{\left[\frac{n\pi c}{L}\right]^{2} - \alpha} \int f(x) \sin \frac{n\pi x}{L} dx$$

$$\frac{W_{L}(x,0)=\sum_{n=1}^{\infty} B_{n} \frac{S(h n\pi x)}{L} \sin \sqrt{\left[\frac{n\pi c}{L}\right]^{2} - \alpha} \int f(x) \sin \frac{n\pi x}{L} dx$$

$$\frac{W_{L}(x,0)=\sum_{n=1}^{\infty} B_{n} \frac{S(h n\pi x)}{L} \sin \sqrt{\left[\frac{n\pi c}{L}\right]^{2} - \alpha} t}{W_{L}(x,1)=\sum_{n=1}^{\infty} B_{n} \frac{S(h n\pi x)}{L} \sin \sqrt{\left[\frac{n\pi c}{L}\right]^{2} - \alpha} t}$$

$$\frac{Solution:}{W_{L}(x,1)=\sum_{n=1}^{\infty} B_{n} \alpha x given by (x)}$$

$$\frac{W_{L}(x,1)=\sum_{n=1}^{\infty} B_{n} \alpha x given by (x)}{W_{L}(x)}$$